
1
2
0
 m

in

L
A

U
N

D
R

E
E

Z
Y

  
L
D

G
5
0
  
7
0
2
0
2

 1

xx
xx

xx
xx

xx
s
e

ri
e

: 
xx

x
..

..
..

..
..

..

..
..

..
..

..
..

..
..

..
.

H
e
rg

e
st

e
llt

 f
u
r:

..
..
..
..
..
..
..
..
..
.

..
..
..
..
..
..
..
..
..
.



2

x12

x8

x10

x8

x12

x12 x1

x12

x24 x2

x6

x4

x2

x6

x6

0 10 20 30 40 50

x4

1 2 3 4A 4x16

6 5x11 9 ø15 9A 10 10K

13 22 22A

38 39 3x20 41 54H

80A
x2

x14

11 3.5x13

x1

26

16

x1

x2

68 M4x25

x16

4F 4x35

1
6
2
cm

67.5cm
50cm



3

DC
B

F

A

D21

D10

D04

D10

D30

D02

D03

D40

D01

D61
D60 D61

A B_(mm) C_(mm) D_(mm) E F

D01 502 660 16 1 1l2

D02 468 640 16 1 1l2

D03 1504 660 16 1 2l2

D04 1504 660 16 1 2l2

D10 468 630 16 3 1l2

D21 468 628 16 1 1l2

D30 1506 478 3 1 2l2

D40 1516 496 16 1 2l2

D60 500 100 16 1 1l2

D61 634 100 16 2 1l2

2628



4

D03

D04

54H

54H

54H

54H

1

1

1

x4

54H

x2

1

x6

2

2

2

2

1

1

1

2

2

2

x2

1

x6

2

2

2

2

2

2

2

2

2



5

1

9

9

9

9

9

9

1

1

1

x4

1
x6

9 ø15

D02

D40

54H

54H

54H

54H

6
6

x8

6 5x11

x4

54H

9

1



6

1

9

9

9

9

9

9

1

1

1

x4

1
x6

9 ø15

D21

9

1

9

9A

D03

D02

D21

D04

x12

9A

6
2
8
m

m

6
4
0
m

m



7

22

26

22

22A

x6 x6

22 22A

x1

26

D30

D03

D01

22

22

22

22

22

22



8

x10 x20

38 39 3x20

39

38

39

8mm

A=B A

B 

39

38

38

38

38

39

39

39

39

39

38

38

38
38

10

10

10

10

D30

D30

D01

710mm

10

x4

10

4F

100m
m

10

x16

4F 4x35



9

10K

10K

11

11

11

11

D60 x12

11 3.5x1310K

x6

D61

4
0
m

m

D60

10K

D30

4
0
m

m

D61

D61

10K

10K

D30

D61

4
0
m

m

4
0
m

m

4
0
m

m

45mm 45mm

22mm 60mm

60mm 22mm

D30

D01

10K

11
11

10K

D60
D61

D61

10K
10K

10K

10K D61



10

x2

41

x2

4A 4x16

ɸ8

1.

2.
41

4A

41

41

80A
x2

41

4A

80A

41

41

D10

D10

x8

13

13

13

1313

13



11

D40

54H

54H

54H

54H

x4

39 3x20

16

x2

11 3.5x13 16

x1

D40

16

39

D40 16

11

D04
16



12

x1

3
x2

68 M4x25

3

68

68

ϕ5

3

68

68

D40

D40

D40



13

468mm

628m
m

628m
m

628m
m

640m
m

3
5
7
m

m
3
1
4
m

m
3
8
8
m

m
3
8
0
m

m

Max

10kg

Max

5kg

Max

5kg

Max

5kg

MaxMax

10kg



14



15



150 min
L
A

U
N

D
R

E
E

Z
Y

  
L
D

S
  
7
0
2
0
0

 1

xx
xx

xx
xx

xx
s
e

ri
e

: 
xx

x
..

..
..

..
..

..

..
..

..
..

..
..

..
..

..
.

H
e
rg

e
st

e
llt

 f
u
r:

..
..
..
..
..
..
..
..
..
.

..
..
..
..
..
..
..
..
..
.



   x20 x3

0 10 20 30 40 50

1 2
x31

3
x40

4A 4x16

x8

6 5x11

x31

9 ø15

x31

9A 10

x4

10K

x6

x16

11 3.5x13

x16

21 4x30

x6

22
x6

22A

162cm

67,5cm

34
x1 x4

39 3x20

x4

45 6,3x13

x1

47
x1

x1

92B

92A

x8

31B

67,5cm

x16

4F 4x35

x1

26

x4

80C
10x80

x6

68 M4x25

x4

54H

2

32
x4

60cm

60cm



Max

P02

P04
P22 P21

P20

PD1

P03

P40

P30
P61

P01
P60

P61

PS1

P40

DC
B

F

A

A B_(mm) C_(mm) D_(mm) E F

P01 676 660 16 1 2l2

P02 642 610 16 1 1l2

P03 1504 660 16 1 2l2

P04 1504 660 16 1 2l2

P20 642 586 16 1 1l2

P21 642 586 16 1 1l2

P22 642 196 16 1 1l2

P30 642 555 16 1 1l2

P40 475 333 16 2 2l2

P60 674 100 16 1 2l2

P61 634 100 16 2 1l2

PD1 634 500 22 1 1l2

PS1 670 115 16 1 2l2 3



P03

2

2

2

2

2

2

2 2
2

2

2

2

2

1

1

21

   x2

1 2
x13

21

P04

1

1
2

2

2

2

2

2

2

2
2

2

2

2

2

   x2

1 2
x13

x2

54H

54H

54H

54H

54H

x2

54H

4



P02

P22

9

9

9

9

9

1

1

1

1
9

1
9

x6

9 ø15

   x4

1

9 9
9

9

9
9

9

x6

9 ø15

5



P20

P30

9
9

9
9

9

9

1
9

1

1

1 9

9

9

1

1

1

1

x10

9 ø15

   x8

1

1 9

9

9

9

9
x4

9 ø15

9

6



PD1

9

9

9

9

9

1

1

1

1

x5

9 ø15

   x4

1

1
9

x2

P40

x8

6 5x11

x4

54H

54H

54H

6

6

7



2

2

2
x5

PS1

P20

21

21

21

21

21

21

21

21

0mm

0mm

x8

21 4x30

2

2

2

2

P21

8

642m
m

586mm

6
4
2
m

m

586mm

P21

21



9

9A

x5

9A

PD1

PS1

9

9A

P03

P22

P02

P20

P30
P04

x26

9A

9



22

22A

x6

22
x6

22A

22

26

22

22

22

22

22

22

P01

10

11
1m

m

37m
m

x1

26



10

x4

10

10

10

10

11

10

4F

100m
m

10

x16

4F 4x35



10K

10K

11

11

11

11

P60 x12

11 3.5x1310K

x6

P60

P61

P61

10K

10K

10K 10K

10K

P61

4
0
m

m

P60

10K

P30

4
0
m

m

12

P61

P61

10K

10K

P30

P61

4
0
m

m

4
0
m

m

4
0
m

m

45mm 45mm

22mm 60mm

60mm 22mm

P30

P01

10K

11
11

P61



31B

4A

4A

4A

4A

31B

31B

32

32 32

32

x4

80C
10x80

x8

4A 4x16

32 4A

 4A

ɸ
8

80C

32

13

31B
31B 4545

92B
1111

45 45

92A
11 11

92A

92B

x1

92B
x1

92A45 6,3x13

x4x8

31B

x4

11 3.5x13

x32

4A 4x16

31B
31B 31B

31B

1.

2.

3.

32
x4



14

47

P21

21
21

21
21

21
21

21

34

21

x7

21 4x30 34
x1

600mm

600mm

5
0
m

m

642mm

21

x1

47 60cm

60cm



3

68

68

3

68

68

54

54

3

x2

3

ϕ5

54H

54H

x4

68 M4x25

15

x4

39 3x20

68

68
3

3.
PD1

PS1

Max

15kg

68

68

3

x1

3
x2

68 M4x25

PD1
1.

39 39

PD1

2.



8
9
0
m

m

642mm
5
0
7
m

m

559mm

Max

120kg

Max

10kg

Max

10kg



17



18



ACHTUNG 

- Bitte beachten Sie unbedingt die Betriebs-, Bedienungs-, oder Montageanweisungen des 
Möbels. Bei Nichtbeachtung, Änderungen am Produkt oder der Verwendung von nicht 

originalen Teilen entfallen jegliche Gewährleistung bzw. Haftungsansprüche. 
- Die Montage und das Verlegen von Elektrischen, oder wasserführenden Leitungen sind nur 

von autorisiertem Fachpersonal durchzuführen. 
- Ziehen Sie alle Schrauben und tragenden Verbindungsteile regelmäßig nach um eine 
dauerhafte Standsicherheit zu gewährleisten. 

- Richten Sie die höhenverstellbaren Füße des Schrankes so aus, dass alle vier Füße fest auf 
dem Boden stehen und der Schrank nicht wackelt. 

- In den Schrank können Waschmaschinen/Trockner in den maximalen Abmessungen von 
Breite 64cm, Höhe 90cm und Gesamttiefe 64cm platziert werden. 

- Platzieren Sie kleinere Geräte mittig, so dass in Tiefe und Breite noch mind. 20 mm Platz 
verbleibt. 
- Beachten Sie unbedingt die Betriebs-, Bedienungs-, und Montageanweisungen des 

Geräteherstellers. 
 

ACHTUNG 
- In den Regalen dürfen nur Waschmaschinen und Trockner mit elektronischer 

Unwuchtkontrolle eingesetzt werden 
- Es sind nur Kondensationstrockner zugelassen 
- Die Schränke und Regale sind fest mit der Wand zu verbinden 

- Bei den Regalen für 1 Gerät beträgt die maximale Belastung 120kg inkl. nasser Wäsche 
- Sollte es durch Wasseraustritt zu Quellschäden kommen, ist das Möbel nicht mehr funktionsfähig 

 und darf nicht mehr verwendet werden. 
- Beachten Sie bitte die Einbau- und Benutzungsbedingungen des Geräteherstellers. 

- Je nach Gerätehersteller muss ggf. eine Fußfixierung für die Waschmaschine/den Trockner 
verwendet werden. 

ATTENTION 

- Please read our operating and or assembly instructions of the product. Failure to comply, 
changes of the product or use of any other than original parts will result in the warranty or 

any liability claims to be invalid. 
- The assembly or connection of electrical cables or water pipes are only authorised by 

qualified personnel. 
- Retighten all screws and connecting parts on a regular basis to ensure continuous sturdiness. 
- Adjust all height adjustable feet until all four feet are positioned evenly on the floor and the 

unit is stable without any movement. 
- The unit will take washing machines/tumble dryers with the maximum measurements of 

64cm width, 90cm height and total depth of 64cm.  
- Small appliances need to be centred and ensure 20 mm space will remain in depth as well as 

width. 
- It is imperative to observe the operating and assembly instructions from the appliance 
manufacturer. 

 
ATTENTION 

- Only the usage of washing machines and tumble dryers with electrical out of balance sensors 
are suitable. 

- Only condensation dryers are suitable. 
- The cabinets and shelving units are to be fixed to the wall. 
- The maximum weight for 1 appliance is not to exceed 120kg including wet laundry. 

- Should moisture damage/swelling due to water spillage occur contrarily the construction 
 the product is no longer suitable and should be discarded. 

- Adhere to the installation and user manual from the appliance manufacturer. 
- Depending on the appliance manufacturer a base fixing kit might be necessary to be installed 

for the washing machine and/or tumble dryer. 

19



 

20


	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7
	Strona 8
	Strona 9
	Strona 10
	Strona 11
	Strona 12
	Strona 13
	Strona 14
	Strona 15
	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7
	Strona 8
	Strona 9
	Strona 10
	Strona 11
	Strona 12
	Strona 13
	Strona 14
	Strona 15
	Strona 16
	Strona 17
	Strona 18
	Strona 19
	Strona 20

